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������������ �������� �� � ������!���"��# !�� ����!��� 
�! ��� �!������ ��� �!����� ��� ����������
��� �����"�� �� !�� #������ 	����� !����� �� ����!�����!�� �����	�!���� ��� �� �!� ���!���!�� �� 	����$
������ �����
���!� ��� ���!���� ��� ���!����� ���!����� ���!������ 	����% ��� �����	��!��� �� !��� !�����
�� ���!����	 	��������  ��� ��������� 
� &%&% '�(������ �� !�� 	��$! ��!��!� ���!���% )�� !����� ��
�	��� ����!�����!�� �����	�!���� ����� ��	��� ������# 
���	� � #�������"�!��� �� )���*�(� �����	�!���
!����� �� +� 
  ������ ��� !����� �� ����!�����!�� ���������  ���� ��� ����� !� ��	��� ������# 
���	� �
#�������"�!��� �� !�� ,���!$-����!./���� +� !����� !� !�� ���� �� ��������# 	����% '� !���� !�������

!�� ������!� �� ��	��� ��� ��	���0 ������# ��������� ��� !�� ������! �� �����!��# ���	 ����#� !������
��� ��!�������� !�� 1���#	�� �� �� ����	� ����!�� ����#� ��� !�� ��������� �����.2�����#�� �� � ��
� ���#�� ��������# ����� ����� ��	��� ������# ��� ����!��� ��� !�� 3�4���! ��������# ��� ����!�� ��$
���	�!���� �� #�������"�� !� !�� ���� �� ����!�����!�� ��������# 	���� ��� !�� ��������� �� ��	��! ��	���
������#  �!���! ���������!��� �� � ������� ���!��� �� �����	�!���� ��� !�� !��5��!�����  �!� �	��� ���
	��� �����!����% '� !��� �����  � ������� !�� �����
���!� �� ����# !�� ���!���� ���!���!� !� ��!�	�!� !��
�6��! �� ���	��# ����	�!��� �� !�� �!����$�!���� �!�!� �������� ��� !� !�� �!����$������� �����!����
�����# !�� ����#� �� !�� ��!����� �!���!���� �� 	�!������% 7� ���� ������� !�� �����
���!� �� ��������!��#
!�� ������$���* ��		�!��� �!���� ��� �!���� !������ �� !�� ���	 �� ���!��� �� !�� ������ ��������!�
��0$��	�������� 2�������� �����% &� ����!�!� ��������� �� �������� ��� !������ ��� ���!���%
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� ��� ��������� �� ��� � ���� ��� ! �����" �# $! %�����" &���� ��� ���$!�' %���%%�%�� �� %� ��  ��
!� ���( � % $��$�%�� )" ���� �!*"&%��� �� +����,� ��% ��� �����" )�� �� -����  % ��� �����" �# �! %��$! %���
��#��� ���� $����%%�%  �� � % ) %�� �� ��� �����" �# $! %�����"  �� �� �'$������� ! %�&���% �# � ���� !% +���
�.,� ���  $$!�� ���� �# !��� �  !(�)�  �� 
&�!��� � ���%�� %$ ��%  !!��% ��� ��  ��/& ��!" ��%���)� ���
$����%%�% �# ��#��� ����  �� !� ���( �# � ���� !%  � � �� $��� �# $�"%�� ! %$ �� +�
���,� ���% ���  $$�� ��
�� ��� �����" �# $! %�����" � % ����!" ��%�&%%�� )" ��� %$��� !�%�% �� ��� $! %�����"  �� 0�� �������% +�	���,�
�� +��,  ������ ��$��� �� ��%�&%%��� �% ��%���)��  ���( ��� %$��� !�%�% �� ���� ���%  �� $�"%��%  % ��!!
 % �� ��� !!&�("� ��� %&)1��� � ���� �# ���% ��%�&%%��� � % ��� �2��� �# %��&��&� ! �� �(�% �� � ���� !% ��
����� ���� ��� ! �� � �����%���%� ���  )�3� ��%�&%%���% ���� ��$��� �� #�� ��� ��3�!�$���� �# ��� $! %�����"
�����"  �� #�� ��� %�&�" �# %���%%�%�� �� %� ��% �� ��� $����%%�% �# �! %��$! %��� ��#��� ���� �# � ���� !%�
��  ! ��� ����4 ��� ��� �����" � % �����%�3�!" ��3�!�$�� �� +���
.,� �� ���% $ $�� �� ���%���� %��� ���
�����$�% ����%% �" #�� ��� #&����� ��3�!�$���� �# ��� �����" �# �! %��$! %��� ��#��� ���� $����%%�%�

5�� &% ���%���� ��� )��"*% $���� ��6��� )" ��� � ��&% 3����� x = xiêi 7i = 1, 2, 384 ����� xi  �� ���
������� ��% �# ���% $����  �� {êi} �% ��� ��������� ! ������� �� ) %�% �# $�"%�� ! %$ ��� �� ���% $����4 ���
%���%%�%�� �� %� �� �% �� � �����9�� )" ��� %���%% ���%�� (σij)  �� )" ��� %�� �� ���%�� (εij)4 ����� σij  ��
εij  �� ����� ���$�����% (i, j = 1, 2, 3)� �� ��� $����%% �# !� ���( )" �'���� ! #����%4 ��� %���%%�%  �� %�� ��%

σij = σij(x, t), εij = εij(x, t)

 �� ������&�&% #&������% �# ���� t +��:4 �
���,� �� ��� $! %�����" �����"4 ��� ���%��% (σij)  �� (εij)  ��
�����$�%�� ���� ��� %$����� ! ���%��%  �� ��� ��3� ���% +.�:4 ��,;

(σij) = S(σ∗
ij) = σ0(δij) + σ(S∗

ij), (εij) = ε(ε∗ij) = ε0(δij) + ( ∗
ij).

���
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���� δij �% ��� <�����-�� %"�)�!� ��� ��3� ��� ���$�����%  �� �# ��� #���

Sij = σS∗
ij = σij − δijσ0, ij =

∗
ij = εij − δijε0.

��� ���&!� �# ��� ���%��% (σij)  �� (εij)  �� ��� ���&!� �# ��� %$����� ! ���%��%  �� ��3� ���% � � )� �������
 %

σ0 =
1

3
σijδij , ε0 =

1

3
εijδij ; σ =

√
SijSij , =

√
ij ij ,

S =
√
σijσij =

√
3σ2

0 + σ2, ε =
√
εijεij =

√
3ε20 +

2.

��� ���$�����% �# ��� ��������� ���%��% (σ∗
ij)  �� (ε∗ij)  �� ��! ���  %

σ∗
ijσ

∗
ij = 1, ε∗ijε

∗
ij = 1 (i, j = 1, 2, 3).


 �� �# ���%� ���%��% �% %$���6�� )" 63� ����$������ /& ������% ��6���( ��� 3����� $��$�����% �# � ���� !%�
��� ���$�����% �# ��� ���%�� ��3� ���%  �� ��! ���  %

S∗
ii = 0, S∗

ijS
∗
ij = 1; ∗

ii = 0, ∗
ij

∗
ij = 1.


 �� �# ���%� ��3� ���% �% %$���6�� )" #�&� ����$������ /& ������% ��6���( ����� 3����� $��$�����%� �� ���
� %� �# %��$!� !� ���(4 �� � 3�

(σ∗
ij) = (ε∗ij), (S∗

ij) = ( ∗
ij).

�� ��� � %� �# ���$!�' !� ���(4 �� � 3� (σ∗
ij) �= (ε∗ij)  �� (S∗

ij) �= ( ∗
ij) +�4 �
,� ��� ���&!� �# ��� ���%��%

S = |S|  �� ε = |ε| �� � �����9� ��� %� ! � $��$�����% �# � ���� !%� ��� %���%% ���%�� (σij) �% �� � �����9��
)" ��� #�!!����( ����� 3�����% �� ��� ����� �&�& !!" �����(�� ! ������� ��  �� %  �  (�3�� $���� �� ���
(���� ! $�%�����  �� ���� ��� &��� ���� ! n̂ = niêi4 ����� ni = cos(n̂, êi);

Si = σjiêj, Sj = σij êi (i, j = 1, 2, 3). (1)

=� ��� (���� ! $�%�����  �� 4 ��� %���%% 3����� Sn �% %$���6�� )" ��� > &��" #���&! +�.,

{
Sn = Sini = Xiêi = (σijnj)êi,

Xn = σijnj (i, j = 1, 2, 3),
(2)

����� Xn  �� ��� $��1������% �# ��� 3����� ���� ��� ������� ��  '�% xi� �� ��� � %� �# ��� 6'�� 3����� Sn  ��
 #��� ��� ���� �# ���%� ������� ��  '�%4 ����� ��� $�%����� �% �� � �����9�� )" ��� #�!!����( �� �%#��� ����;

x′
i = lijxj , ê′i = lij êj êi = ljiê

′
j (i, j = 1, 2, 3).

���� (lij) �% ��� ��������� ��%��� � ���'� �#��� ��� ���� �# ��� ������� ��  '�%4 ��� 6'�� 3����� � -�% ���
#���

S
′
i = lijSj , Sn = Xiêi = X ′

j ê
′
j .

� -��( ����  ���&�� 7�8  �� ��������( ������%4 �� (��

Sq = lqjSj = (σij lpilqj)ê
′
p (p, q, i, j = 1, 2, 3). (3)

?��� 7�8 �� ���� �� ��� #�!!����( #���&! #�� ��� �� �%#��� ���� �# ��� %���%% ���%�� ���$�����% �� ���
��� ������� ��  '�%;

σ′
pq = σij lpilqj = σ0δpq + Sij lpilqj .

��  %���! � � "4 #�� ��� %�� �� ���%�� �� �)� ��

ε′pq = εij lpilqj = ε0δpq + ij lpilqj .

�&���( ��� ��� ���� �# ��� ������� ��  '�%4 ����� �'�%�% ����� $�%����� %&�� �� � ��� %�� � %���%%�% σij

(i �= j)  �� �/& ! �� 9���  �� ��� ���� ! %���%%�% � -� ��� �'����� 3 !&�% σk (k = 1, 2, 3) -����  % ���
$�����$ ! �� ��(�� %���%%�%� �� ���% � %� �� � 3�

Sn = σk(δijnj)êi (i, j = 1, 2, 3). (4)

/3,:37 9�'-2�,'�; /2:)&�':, 19<<2�'� -��% �� ��% = ����



�)2 >2�2�&< /&�)2/&�':&< �)23�; 3? @<&,�':'�; ���

>��$ ���( 7.8  �� 7�84 �� ���� �� ��� #�!!����( %"%��� �# �/& ����%;

(σij − δijσk)nj = 0. (5)

���  ������� ! ��! ���� �% njnj = n2
1+n2

2+n2
3 = 1� ?��� ���% ��! ���� �� #�!!��% �� � ���% %"%��� � % ���9���

%�!&����%  ��4 �����4 ��% �������� �� �% �/& ! �� 9���;

D = −|σij − δijσk| = σ3
k − I1σ

2
k + I2σk − I3 = 0. (6)

���� ��� ���@�����%  �� ��3 �� ��  ��  �� �# ��� #���
⎧
⎪⎪⎨

⎪⎪⎩

I1 = σii = σ1 + σ2 + σ3 = 3σ0, S2 = 3σ2
0 + σ2;

I2 =
1

2
(σiiσjj − σijσij) = σ1σ2 + σ2σ3 + σ3σ1 =

1

2
(9σ2

0 − S2);

I3 = |σij | = σ1σ2σ3.

(7)

�� ��� �����" �# $! %�����"4 �� �% ���3������ �� ���%���� ��� #�!!����( ��3 �� �� ��%�� � �# ��� ��3 �� �� I2;

2I ′2 = σijσij = σ2
1 + σ2

2 + σ2
3 = S2.

��� ��3 �� ��% �# ��� %���%% ��3� ��� � � )� ���������� #���  � �/& ���� %���! � �� 7:8  ��  �� �# ���
#��� ⎧

⎪⎪⎪⎨

⎪⎪⎪⎩

J1 = S11 + S22 + S33 = S1 + S2 + S3 = 0,

2J2 = SijSij = S2
1 + S2

2 + S2
3 = σ2,

J3 = |Sij | = I3 − σ3
0 +

1

2
σ0σ

2 =
σ3 cos 3ϕ

3
√
6

,

(8)

����� Sk = σk − σ0  �� ��� $�����$ ! %���%%�% �# ��� %���%% ��3� ���� ����! � #���&! %  �� 3 !�� #�� ���
��3 �� ��% �# ��� %�� �� ���%��%  �� ��� %�� �� ��3� ���%� ��� $�����$ ! ���� !  �� %�� � %���%%�%  �� �# ���
#��� ⎧

⎪⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎪⎩

S1 = σ1 − σ0 =

√
2

3
σ cosϕ,

S2 = σ2 − σ0 =

√
2

3
σ cos

(
2π

3
− ϕ

)
,

S3 = σ3 − σ0 =

√
2

3
σ cos

(
2π

3
+ ϕ

)
,

⎧
⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎩

T12 =
σ1 − σ2

2
=

σ√
2
sin

(
2π

3
+ ϕ

)
,

T23 =
σ2 − σ3

2
=

σ√
2
sinϕ,

T13 =
σ1 − σ3

2
=

σ√
2
sin

(
2π

3
− ϕ

)
.

�# ��� ������� ��  '�%  �� ��� ���4 ��� %���%% ���%�� ��� ��% &��� �(��  %  $�"%�� ! /& ����"4  !���&(�
��% ���$�����%  �� �� �(��� ���% ��3 �� ��� �# ���%�� ���$�����% &���� ������� �� �� �%#��� ����% � �
)� ���%������  %  ��6������ �# ��� %���%% ���%�� �# ��% ����� ��3 �� ��% ��� �� ��� % ��� � %���! � %��& ����
� -�% $! �� #�� ��� %�� �� ���%��� �� +��, ��� �����$� �# ��� ��� ���� ! %���%%�% σ��� = σ0  ��

τ��� =
2

3

√
T 2
12 + T 2

23 + T 2
13 =

σ√
3

 �� ������&���� ���� τ��� �% $��$������ ! �� ��� ���&!&% �# ��� %���%% ��3� ��� σ� ���%� %���%%�%  �� ��� % ��
��  !!  �� % �#  ���� ��� ! $ ����!� �# ��� ������ %� $�� =� � ��  �� 4 ��� ��������� �# ��� %�� � %���%% �%
%$���6�� )" ��� #�����(  �(!� ϕ �� %&��� #��� ��� $��1������ �# ��� 6�%� $�����$ !  '�% ���� ���%  �� &%��(
��� #���&! 

cos 3ϕ =
3
√
6|Sij |
σ3

.

�� ��� � %� �# %�� ��%4 ��� #�����(  �(!� ψ �% ���������� )" ��� #���&! 

cos 3ψ =
3
√
6| ij |
3 .

=�  � ��� ������  �� 4 ��� %���%% 3����� S
0

n � -�%  �  �(!� α0 ���� ��� &��� ���� ! �� ���%  �� � ����4
��� $��1������% �# ���% 3����� ���� ��� &��� ���� ! n̂  �� ���� ��� &��� � �(��� 3����� t̂ ⊥ n̂  ��  % #�!!��%;

σ0 = S0
n cosα0 =

S√
3
cosα0, τ��� =

σ√
3
= S0

n sinα0 =
S√
3
sinα0. (9)

/3,:37 9�'-2�,'�; /2:)&�':, 19<<2�'� -��% �� ��% = ����
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����

S0
n =

√
σ2
0 + τ2

���
=

S√
3
, S =

√
3σ2

0 + σ2.

?��� 7A8 �� �)� �� ��� #�!!����( $ � ����� �� � �����9��( ��� ��3� ���� �# Sn #��� n̂;

χ = cotα0 =

√
3σ0

σ
=

3σ0

τ���
.

��� %���%% ���%�� ��3 �� ��% 7�8 � � )� ��$��%�����  %

⎧
⎪⎪⎪⎨

⎪⎪⎪⎩

I1 = 3σ0 =
√
3S cosα0, S2 = 3σ2

0 + σ2,

2I2 = 9σ2
0 − S2 = S2(3 cos2 α0 − 1),

I3 =
S3

3
√
6

[
cos 3ϕ sin3 α0 +

√
2 cos3 α0 −

3√
2
sin2 α0

]
.

(10)

��������( �� 7�84 7	84  �� 7��84 ��&%4 ��� %���%% ���%�� � � )� %$���6�� )" ��� %�' ���$�����% σij 4 �� )"
��� ����� $�����$ ! %���%%�% σk4 �� )" ��� ����� ��3 �� ��% Ik  �� ��� ����� $�����$ ! ���������% 7��� �����

&!��� �  �(!�%8  % ��!!  % )" ��� ����� ��3 �� ��% σ04 σ4  �� J3 �� S4 α04  �� ϕ  �� )" ��� ����� $�����$ !
���������% 7��� ����� 
&!��� �  �(!�%8� ��� ���%�� ���&!&% S �� � �����9�% ��� %� ! � $��$�����% �#  � ���� !4
����� % ��� ����� 
&!��� �  �(!�%  �� ��� ���  %$���  �(!�% α0  �� ϕ �# ��� %���%%�%�� �� %� �� �� � �����9�
��� 3����� $��$�����% �# ���% � ���� !� � %���! � %��& ���� � -�% $! �� #�� ��� %�� �� ���%��� �� ��� � %� �#
&��#��� ���%���  �� ���$��%%���4 �� � 3� α0 = 04 τ��� = 04  �� σ0 = S/

√
3� ����4

I1 = 3σ0, I2 = 3σ2
0 , I3 =

S3

3
√
3
= σ3

0 .

�� ��� � %� �# &��#��� #�����(4 �� � 3� α0 = π/24 3σ0 = σ1 + σ2 + σ3 = 04  �� τ��� = S/
√
3 = σ/

√
3� ����4

I1 = J1 = 0, 2I2 = −S2 = −2J2 = −σ2, I3 = J3 =
σ3 cos 3ϕ

3
√
6

.

��� �� ���%���� ��� ���%�� �� �%#��� ���� ���� ��� ������� ��  '�%  �� ��� ������� �� ) %�% {êi}  ��
6'��� �� ���% � %�4 xi = ���%�  �� ��� %���%% ���%��  �� ��� 3����� Sn = Xiêi  �� �� �%#�����  %

S
′
n = (αij)Sn = X ′

i ê
′
i, αij = lij (i, j = 1, 2, 3)

�# ��� !��(��% �# 3�����% ��� �� ��� % ��;

X ′
iX

′
i = XjXj, X

′
i = αijXj = αikXk, Xj = δjkXk (i, j, k = 1, 2, 3).

?��� ���� �� �)� ��
αijαik = δjk, |αijαik| = 1, |αij | = ±1,

����� ��� $!&% %�(� �����%$���% �� ��� 3����� ��� ����4 ����� % ��� ���&% %�(� �����%$���% �� ��� 3�����
��0������� ��� 6�%�  �� ����� ��3 �� ��% ��� �� ����6����� ����� �� �(�% � " )� $�%%�)!�4 %���� ��  $ ����!�
��� $�"%�� ! $����%%�%  �� ��2����� &���� �� �%#��� ����  �� �����%$��� �� ����6�� %���%%�%�� �� %� ��%�
�!���&(� ��� �� �%#��� ���� � �����%  �� ���������� #�� ��� ���%��  �� #�� ��� ������� ��  '�% (αij = lij)4
��� ���%�� �� �%#��� ����% �����%$��� ��  ��� $�"%�� ! %� ���

��  � ����� !!" �%����$�� )��"4 ���  $$� � ��� �# $! %��� ��#��� ����% �% &%& !!"  %%��� ��� ���� ���
���%� �� ���B��� �� ��������� +��4 .A,

Tmax = Tmn =
σm − σn

2
=

{
k = σT /2,

k0 = σT /
√
3

(m < n; m,n = 1, 2, 3) (11)

�� ���� ��� C�%�%�� � � ��������� +��4 ��4 .�4 .A,

σ =
√
3 τ��� =

2√
3

√
T 2
12 + T 2

23 + T 2
13 = σT . (12)
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���� k �% ��� %�� � "��!� %���%% �� ��� � %� �# %$ �� !!" ���$!�' %�� � �� ��� ���%� %��%�4 k0 �% ��� %�� �
"��!� %���%% �� ��� � %� �# %��$!� %�� �4  �� σT (�3�� �� 7��8 �%

σT =

√
2

3
σT =

√
6k∗ =

√
2

3
(2k), (13)

����� σT �% ��� ���%�!� "��!� %���%%  �� k∗ �% ��� %$ �� ! $&�� %�� � "��!� %���%% +��4 .�4 .A,� �� +�., �� �%
%� ��� �� �4 �� ��� ���%� �'$�������%4 ��� ��%���)&���� �# %�� � %���%%�% �% ��� &��#���  �� �% ���  ��&� ��
���&(�� �� +��,  (�������� !!"  �� $�"%�� !!" �!� � �'$! � ���� �% (�3�� �� ��� C�%�% ��������� 7��8D  �������(
�� ���% ���������4 ��� �� �%����� �#  � ���� ! #��� ��� �! %��� %� �� �� ��� $! %��� %� �� �% �)%��3�� ����4
��  !!  �� %4 ��� 3 !&� �# τ��� %��&!� ���&%!" )�����% �/& ! �� ��� !���� 3 !&� τ��� = k��� =

√
2 k∗4 %����

τ��� < T��� = 1.5 k∗�

��� �����$�% �# #&!!  �� $ ��� ! $! %�����" ���� ������&��� )" �  �  �� <E ��E � �� +��,� ��� ���%� 
$! %�����" ��������� 7��8 � � )� ��$��%����� �� ��� #�!!����( ���� (���� ! #���;

(T 2
12 − k2)(T 2

23 − k2)(T 2
13 − k2) = 0.

F%��( 7	84 #��� ���� �� (��

sin2 3ϕσ6 − 18k2
[
σ2 −

(
8

3
k2
)]2

= 0. (14)

��� C�%�%�� � � ��������� #�!!��% #��� 7�.8 #�� σ = σT  �� sin2 3ϕ = 0� �� ��� 3����� %$ �� �# $�����$ !
%���%%�% 7���������%84 (�������� !!" ���% ��������� %$���6�%  ����!� �# � ��&% σ = σT �� ��� ��3� ����� $! ���
���  �(!�% ϕ = 0◦, 60◦, 120◦, 180◦, 240◦, 300◦ %$���#" ��� %�' %��(&! � $����% �# #&!! $! %�����" (σij = τ = k∗)
�� ���% ����!�� ��� �����%$�����( � ��� #��� ��� %�' %�����% �#  �(!� 60◦� ��� ����� $����% �# ��� ����!�
�����%$��� �� ��� $ ��� ! $! %�����" +��4 ��4 .�4 .A,� �� ��� ��������� %�����%4 ��� � '��&� %�� � %���%%�%
Tmax  �� ��2������ ����3��4 ����� )�� 3��� �% ��� % �� �� � �� %�����;

Tmax =
σ√
2
sinω =

√
3

2
τ��� sinω. (15)

��� 3 !&�% �# ω  �� (�3�� �� ��� � )!� #�� � �� %������

������ Tmax ω ϕ

�4 �� T13 2π/3− ϕ 0◦ ≤ ϕ ≤ 60◦D 180◦ ≤ ϕ ≤ 240◦

��4 � T23 ϕ 120◦ ≤ ϕ ≤ 180◦D 300◦ ≤ ϕ ≤ 360◦

���4 �� T12 2π/3 + ϕ 60◦ ≤ ϕ ≤ 120◦D 240◦ ≤ ϕ ≤ 300◦

?��� ���% � )!� �� #�!!��% �� � Tmax �% 3 �� )!� �� � �� %�����  �� ��� ���%� ��������� �%  $$��'�� ���
?��� 7�
8  �� #��� ��� � )!�4 �� #�!!��% �� �4  � ��� �'����� $����% �# %�����  ��%  ��  � ����� ���$����%4
�� � 3�

τ���
Tmax

=
2
√
2

3
= 0.945,

τ���
Tmax

=

√
2

3
= 0.816.

�� ����� ����%4 ��� #�!!����( ���/& !��" �% 3 !��; τ��� < Tmax� �����4 ��� �� �%����� #��� ��� �! %��� %� ��
���� ��� $! %��� %� �� �% $��#�����  �������( �� ��� C�%�%�� � � ��������� �# ��� � ���� ! �% ����� !!" �%����$��
 �� %� )!�;

τ��� = k��� =
√
2 k∗ =

√
2

3
σT .

��� &�%� )!� 7��� %� )!�8 � ���� !% 7 !!�"%8 � � % ��%#" ��� C�%�%�� � � ��������� ����  %&@�����  �B
�&� �"4 )&� � � %�(��6� ��!" ��3� �� #��� ���% ���������� ?�� �' �$!�4 ���% �% ��� � %� #�� ��� � (��%�&�
 !!�"% +��, ���� ����� &�%� )!� %��&��&�� � &%�% ��� ! �(� ��3� ����% �# ��� ���&!&% σ  �� ��� %��(!� � ��B
����( �&�3� ! � �% 3��! ���� �� ���% � %�4 #��  ��������� ! %��(!� � ������( �&�3� &���� %��$!� !� ���(4 ��
%��&!� � -� ��� � ������( �&�3� �)� ���� )"  ���%��� ��%� $��#����� �� �%��� �� ��� ����� �� ��� #&!6!����
�# ��� � �� �"$����%�% �# ������&&� ���� ���%�
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��� $�%�&! �� �# � ���%��$�� ��6� )�!��" $��$�%�� )" �!*"&%��� �� +�4 �, �% &%�� �� ����3� ��� %���%%�%�� ��
���%���&��3� ��! ����% �� ��� �����" �# �! %��$! %��� ��#��� ���� $����%%�%� ��������( �� ���% $�%�&! ��4 ���
%���%% $����%% &��/&�!" %$���6�% ��� ����&�*% %� ��  � � �� ���� ��� ! $ ����!� �#  )��" &���� ���$!�'
%���%% %� ��  �� !� ���(  � � �� ���� ��%� �� t� ?��� ��� � ���%��$�� ��6� )�!��" $�%�&! ��4 �� #�!!��% �� �
���  $$� ���( %���%%�% σij �� σ04 Sij  �� ��$������ �� εij �� ε04 ij  % ��!!  % �� ��� ���$�� �&�� T  ��
��� $��%%&�� p  �� �� ��� ���B������$�"%�� ! $ � �����% β� �#  ����&� �% ����� !!" �%����$�� &����  �"
%���%%�%�� �� %� �� �&���(  ���$!�' !� ���( $����%% (S∗

ij �=
∗
ij)4 �����4 �� � 3�

σ0 = 0{ε0, ij , T, β}t, Sij = ij{ε0, ij , T, β}t.

���%� ��! ����%  �� ��� #&������ !% �# ��� $����%%  ��  �� ��3 �� �� ���� ��%$��� �� ��� �����(�� ! �� �%B
#��� ����% �# ��� ����  �� ��0������ #�� ��� ������� ��  '�% xi �� ��� $�"%�� ! �����B�����%��� ! %$ ��� ��
!��� �  !(�)� 4 ��� %��% �#  �" �!�����%  �� % �� �� )� !��� � ��  @�� %$ ��% +�
���,� �% %&�� �!�����%4 ��
� � ���%���� ��� %�����B� �- %���%%  �� %�� �� ���%��%� �� ���% � %�4 ��� %�� �# ���%��% �% % �� �� )� ��� ���%��
%$ ��  �� ��� �!�����%  �� % �� �� )� ��� (���� !�9�� 3�����%� ?�� ��� ����� !!" �%����$�� ���� 4 �!*"&%���
$��$�%�� ��� (���� !�9�� ���%�� ��! ����%

σ0 = 3Kε0, Sij =

5∑

n=1

An
dn ij

dsn
(i, j = 1, 2, 3), (16)

�����K �% ��� G���(� � )&!- �! %��� ���&!&%4 s(t) �% ��� !��(�� �# ��� %�� �� ���%�� �� 1�����"  %  $ � �����
�# $����%% �� �-��(4 {dn ij/ds

n}t �% ��� !��� �!" ����$������ ���%�� ) %�% �# ��� %�'B�����%��� ! ���%��
%$ �� T64  �� An  �� ��� ���@�����% ��$������ �� ��� ��3 �� ��% �# ��� ��3� ���% +
,� ���  )�3� ��! ����
)������ %���%%�%  �� %�� ��% � % ����3�� �� ��� ) %�% �# &��3��% ! ���%��  $$�� �� &%�#&! �� ��3�!�$ ���
(���� ! � ���� ��� ! �����" �# $! %�����"  �� �� $��3� ��� ��3 �� ��� �# ��% (���� ! $�"%�� ! ! �% ����%$����3�
�# ��� ������� �� %"%��� xi  �� ��% ������� �� ) %�% {êi} +�����,�

��� ��! ����% �'$��%%�� )" 7�:8 � � )� ���%������  % ��� � ���� ��� ! #���&! ���� �# ��� � ���%��$��
��6� )�!��" $�%�&! �� #�� ��� ����� !!" �%����$�� ���� � �� ��� � %� �# %� !! %�� ��%4 ���%� ��! ����% ���$!���!"
��%���)� ��� $��$�����% �# %&�� ���� �� ��� $�"%�� ! %$ �� #��  $ ����&! � $����%% ���� ��%$��� �� ��� �����(B
�� ! �� �%#��� ����% �# ��� ����  �� ��0������ #�� ��� ������� ��  '�% x′

i = lijxj  �� #�� ��� �����%$�����(
�� �%#��� ����% �# ��� ���%�� ���$�����%;

σ′
pq = σij lpilqj , ε′pq = εij lpilqj .

���%  %%������ �% ��!" 3 !�� ���� ��� ����&� &���� %�&�" % ��%6�% ��� �"$����%�% �# � ���� ! ������&&�� ��
���% � %�4  !! ��� ����� ���%�� ��3 �� ��% ��� �� &��� �(���

I��� �� �%#�����( ��� 3����� �� (�% �# %���%%  �� %�� �� ���%��%4 �� �)� ��  %�� �# ����� $�"%�� !
$����%%�%  �  (�3�� ���� ��� ! $ ����!� �#  )��"� �� ���% � %� ��� (���� ! #��� �# ��� ���%���&��3� ��! B
����% 7�:8 ��� ��% ��� % ��D ����3��4 ��� ���@�����% An )����� ��$������ �� ��� �� �(�% �# ��� 6�%�  ��
����� ��3 �� ��% �# %���%% %� ��% &���� &��#��� ���%���  �� ���$��%%���  �� &���� &��#��� #�����( � &%��
)" �� �(�% �� ��� %��&��&� !B���� ��� ! $��$�����% �&���( #�����( $����%%�% �� ��� %���%%�%�� �� %� ���

�# ��� �� �(�% �� ��� %��&��&� !B���� ��� ! $��$�����%  �� �(�����4 ���� ��� ���%���&��3� ��! ����% 7�:8
� � )� ���%������  % ��� �%����$" $�%�&! �� #�� ��� ����� !!" �%����$�� ���� ; &���� %� !! �! %��$! %��� ��#��B
� ����%4 ���%� ��! ����% ��%���)� ��� $�"%�� ! $��$�����% �# ��� ����&� ���� ��%$��� �� ��� �� �%#��� ����%
�# ��� ����  �� ��0������ �# ��� %���%%  �� %�� �� ���%��% �# ��� ) %�� ������&&� ���� ���% �"$����%�% ���%
��� � -� ����  ���&�� ��� �� �(�% �� ��� ����&�*% %��&��&�� &���� ���$!�' !� ���( +��4 ��,�

�� ��
 C�>�=�>=H�> �
?���G�5��J ��� ��=��=HJ H=��F5��
�
�� ��
 5��
�� �
>�=� �H�>


�� +���4 ����,4 ��� !��� � 
&�!��� � %�'B�����%��� ! %$ �� E6 �% ������&��� ��%�� � �# ��� !��� � ���%��
%$ ��� �� E64 ��� %���%% ���%�� σij  �� ��� %�� �� ���%�� εij �����%$��� �� ��� ������� ��!!������% �# �����
���$�����% � !!�� ��� ������� ��% �# �&!�������%��� ! 3�����%� �%  ��%&!�4 ��� ���%�� %$ �� �% ���%������  %
��� ������� ��B3����� !��� � %�'B�����%��� ! %$ ��� ��� ���%�� %$ �� )�����% 
&�!��� � �# ��� �&!� �# 3�����
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%&�� ����  �� ��� �&!� �# ��� %� ! � $���&�� #�� ��� 3�����%  �� ������&���� ����� ��� $���&�� �&!� #��
��� ��� %�����B� �- ���%��% (σij) · (εij) = (σikσkj) �% ��� $���&� )!�4 ��� %� ! � $���&�� �# %�'B�����%��� !
3�����% �% ���%������  % ����� ���3�!&����4 �� ��� ��&)!� %� ! � $���&�� +��4 �:4 �A,� �� ���% � %� �� � 3�

{
(σij) · ·(εij) = σikεki (i, j, k = 1, 2, 3),

(σij · ·(σij) = σijσij = S2, (εij) · ·(εij) = εijεij = ε2.

�����4 � �� �# ��� ���%��% (σij)  �� (εij) � � )� $&� �� �����%$������� ���� ��� (���� !�9�� 3�����% �#
��� %�'B�����%��� ! !��� � 
&�!��� � %$ �� +��4 �.,;

S = Ynên, ε = Xnên (n = 1, 2, . . . , 6). (17)

���� {ên} �% ��� ������� �� ��������� ! 3����� ) %�% �# ���% %$ ��  ��
{
X1 = ε11, X2 = ε22, X3 = ε33, X4 =

√
2 ε12, X5 =

√
2 ε23, X6 =

√
2 ε13,

Y1 = σ11, Y2 = σ22, Y3 = σ33, Y4 =
√
2σ12, Y5 =

√
2 σ23, Y6 =

√
2σ13

(18)

 �� ��� 3����� ������� ��% �����%$�����( �� ��� ���%�� ���$�����%� �� ��� �����$�%����� �# ��� ���%��%
���� ��� %$����� ! ���%��%  �� ��� ��3� ���%4 ��� �����%$�����( 3�����% 7��8 ���� ��� ������� ��% �'$��%%��
)" 7�	8 � � )� ��$��%����� �� ��� ��� ) %�% {îk}  % +���4 ��,

S = Sk îk, ε = k îk (k = 0, 1, 2, . . . , 5), (19)

����� ��� 3����� ������� ��% Sk  �� k  �� ��! ��� �� ��� ���%�� ���$�����%  %
⎧
⎪⎪⎪⎨

⎪⎪⎪⎩

S0 =
√
3σ0, S1 =

√
3

2
S11, S2 =

S22 − S33√
2

, S3 =
√
2S12, S4 =

√
2S23, S5 =

√
2S13,

0 =
√
3 ε0, 1 =

√
3

2
11, 2 =

22 − 33√
2

, 3 =
√
2 12, 4 =

√
2 23, 5 =

√
2 13

(20)

 �� ��� &��� 3�����% �# ��� ��������� ! ) %�% {êk}  �� ��! ��� �� ��� &��� 3�����% �# ��� �!*"&%��� ��������� !
) %�% {îk}  % +��,

⎧
⎪⎨

⎪⎩

î0 =
1√
3
(ê1 + ê2 + ê3), î1 =

√
2

3

[
ê1 −

1

2
(ê2 + ê3)

]
, î2 =

ê2 − ê3√
2

,

î3 = ê4, î4 = ê5, î5 = ê6.

��� �� �%#��� ����% �'$��%%�� )" 7��8  �� 7�A8 % ��%#" ��� �������" ���������% #�� ���  )�3� ���%��%  ��
3�����% +�4 ��4 ��,; {

S2 = σijσij = YnYn = 3σ2
0 + SijSij = SkSk,

ε2 = εijεij = XnXn = 3ε20 + ij ij = k k.
(21)

?��� ��� �������" ���������% 7��84 �� #�!!��% �� � ��� ���%�� ���&!�  �� ��� 3����� !��(��%  �� �/& !4
����� % #��� ��� ���B��B��� �� �%#��� ����% 7�	8  �� 7��8 �� #�!!��% �� � ��� ����� ���%�� ��3 �� ��% ��� ��
��� % ��  !%� �� ��� %�'B�����%��� ! 3����� %$ �� E6 #�� ��� 6'�� 3�����%� F%��( 7��84 �����4 �� � � �� �%#���
��� ���%�� #��� �# ��� ) %�� $�%�&! �� �# ������&&� ���� ���% �'$��%%�� )" 7�:8 �� ��� 3����� #���

σ0 = 3Kε0, σ =

5∑

n=1

An
dn

dsn
�� Sk =

5∑

n=1

An
dn k

dsn
(k = 1, 2, . . . , 5), (22)

����� {dn /dsn} �% ��� !�� ! !��� �!" ����$������ %-��B �(&! � #� ��  � � �� $���� �# ��� %�� �� �� 1�����"
= (s) ���%�  �� !��(�� �% s(t)� �� E6 ���� ��� ) %�% {îk}4 ��� %�� �� �� 1�����" (s) ���� ��� %���%%

3����� σ4 ��� ���$�� �&�� T (s)4 ��� $��%%&�� p(s)4  �� ����� ���B������$�"%�� ! $ � �����% �% % �� �� )�
��� �� (� �# ��� %�� �� $����%% +���,� ��%�� � �# ��� !�� ! %-��B �(&! � #� �� {dk /dsk}4  � � �� $���� �#
��� %�� �� �� 1�����" �� � � ���%��&�� ��� ��������� ! #� �� {p̂k} ���%� &��� 3�����% % ��%#" ��� ���&������
#���&! % +���4 ��,

dp̂k
ds

= −κk−1p̂k−1 + κkp̂k+1,

/3,:37 9�'-2�,'�; /2:)&�':, 19<<2�'� -��% �� ��% = ����



��	 891:)&�'�3-

����� k = 0, 1, . . . , 5  �� κ0 = κ6 = 0 �� E6 �� k = 1, 2, . . . , 5  �� κ0 = κ5 = 0 �� E54  ��

p̂1 =
d

ds
, p̂2 =

1

κ1

d2

ds2
, p̂3 =

1

κ2

[

κ1
d

ds
+

d

ds

(
1

κ1

d2

ds2

)]

, . . . .

��� 3����� p̂1 �%  � �(��� 3�����  � � �� $���� �# ���  � !"��� ! %�� �� �� 1�����"� ��� %���%% 3�����  �� ��%
6�%� ����3 ��3� � � )� ��$��%����� �� ��� #�!!����( #��� �� ��� � �&� ! #� �� �# E5 +����:,;

S0 = 3K 0, σ = Pkp̂k,
dσ

ds
= P ∗

k p̂k (k = 1, 2, . . . , 5). (23)

���� ��� &��� %���%% 3����� �% �# ��� #�!!����( #��� �� E5;

σ̂ =
σ

σ
= cosβkp̂k (k = 1, 2, . . . , 5). (24)

��� #&������ !% �# ��� $����%%  ��

Pk = σ cosβk, P ∗
k =

dσ

ds
cosβk + σ

[
d cosβk

ds
+ κk−1 cosβk−1 − κ cosβk+1

]
, (25)

����� βk  �� ���  �(&! � ������� ��% �# ��� 3�����% σ  �� σ̂ �� ��� � �&� ! ?���E�� #� ���
��� ���%���&��3� ��! ����% 7��8 � � )� ���������  %

⎧
⎪⎨

⎪⎩

S0 = 3K 0,
dσ

ds
= Mkp̂k +

(
dσ

ds
−Mk cosβk

)
σ̂,

σ = σσ̂ = σ(cos βkp̂k) (k = 1, 2, . . . , 5),

(26)

����� ��� %�� �� $����%% #&������ !%

Mk = σ

[
P 0
k − P 0

2

cosβk

cosβ2

]
(M2 = 0) (27)

 �� ��$������ �� ��� ������ ! (������" $ � �����% (s,κm)4 ��� ���$�� �&�� T 4 ��� %�� �� � �� ṡ4  �� ���
����� ���B������$�"%�� ! $ � �����% β  % ��!! �� ��� %�� �� ���%�� ��3 �� ��% ε04 4  �� Jε

3 = | ij | #�� � ��
6'�� �� (� �# ��� %�� �� $����%% ����%$����3� �# ��� ������� �� %"%���  �� ��% �� �%#��� ����% �# ��� ����  ��
��0������� ���  �(&! � ������� ��% βk �# ��� 3����� σ̂ � � )� �'$��%%�� �� ����% �# ��� %$����� ! ������� ��%
ϑm (m = 1, 2, 3, 4)  % +��4 �
,

{
cosβ1 = cosϑ1, cosβ2 = sinϑ1 cosϑ2, cosβ3 = sinϑ1 sinϑ2 cosϑ3,

cosβ4 = sinϑ1 sinϑ2 sinϑ3 cosϑ4, cosβ5 = sinϑ1 sinϑ2 sinϑ3 sinϑ4.
(28)

�����4 ��� /& ������% �'$��%%�� )" 7��8�7��8 � � )� ��$��%����� �� ��� #��� +����:,

dσ

ds
= Mkp̂k +Mσ̂ (k = 1, 2, . . . , 5), (29)

M =
dσ

ds
−M1 cosϑ1 −M0 sinϑ1 sinϑ2, (30)

⎧
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dϑ1

ds
+ κ1 cosϑ2 =

1

σ
[−M1 sinϑ1 +M0 cosϑ1 sinϑ2],

sinϑ1

(
dϑ2

ds
+ κ2 cosϑ3

)
=

1

σ
[−M2 sinϑ2 +M0 cosϑ2] + κ1 cosϑ1 sinϑ2,

sinϑ1 sinϑ2

(
dϑ3

ds
+ κ3 cosϑ3

)
=

1

σ
[−M3 sinϑ3 +M∗ cosϑ3] + κ2 sinϑ1 cosϑ2 sinϑ3,

sinϑ1 sinϑ2 sinϑ3

(
dϑ4

ds
+ κ4

)
=

1

σ
[−M4 sinϑ4 +M5 cosϑ4] + κ3 sinϑ1 sinϑ2 cosϑ3 sinϑ4,

(31)
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�����
M2 = 0, M0 = M3 cosϑ3 +M∗ sinϑ3, M∗ = M4 cosϑ4 +M5 sinϑ4. (32)

�� ��� �����B�����%��� ! � %�4 �� � 3� ϑ3 = ϑ4 = 0  �� M4 = M5 = 0� �����#���4 ��� ) %�� ��! ����%
� -� ��� #���

⎧
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

dσ

ds
=M1p̂1 +

(
dσ

ds
−M1 cosϑ1 −M3 sinϑ1 sinϑ2

)
σ̂ +M3p̂3,

σ̂ = cosϑ1p̂1 + sinϑ1(cosϑ2p̂2 + sinϑ2p̂3),

dϑ1

ds
+ κ1 cosϑ2 =

1

σ
[−M1 sinϑ1 +M3 cosϑ1 sinϑ2],

sinϑ1

(
dϑ2

ds
+ κ2

)
=κ1 cosϑ1 sinϑ2 +

M3

σ
cosϑ2.

(33)

�# ϑ2 = 04 ��� ���%��� κ2 �% %� !!4  �� M3 = σκ2 sinϑ14 ���� �� ���� �� ��� #�!!����( �/& ����% #�� ���
�� 1�������% �# %� !! ���%��� (�3�� �� 7��8;

⎧
⎪⎪⎨

⎪⎪⎩

dσ

ds
=M1p̂1 +

(
dσ

ds
−M1 cosϑ1

)
σ̂ + σκ2 sinϑ1p̂3,

σ̂ = cosϑ1p̂1 + sinϑ1p̂2,
dϑ1

ds
+ κ1 = −M1

σ
sinϑ1.

(34)

�� 7�.84 #�� ��� $! �� �� 1�������% �� � 3� κ2 = 0  �� ϑ2 = 0� �#��� ��� ���( ��� ������� �� ) %�% �# E64
�� (��

x′
i = βijxj , ê′i = βij êj (i, j = 1, 2, . . . , 6),

����� (βij) �% ��� �� �%#��� ���� � ���'� �# ��� 3�����%  �� ��� �� (�% �# ��� $����%%�%  �� 6'��4 ���� ��
� 3�

= iêi =
′
j ê

′
j , êj = βjiêi, i = βji

′
j .

�����4
′
i = βij j (i, j = 1, 2, . . . , 6). (35)

�� ����� ����%4 ��� 3����� ������� ��% i  �� �� �(��4 ����� % ��� 3����� ��%�!#  ��  !! ��% ��3 �� ��% ��� ��
��� % ��4 %���� ���% 3����� �% 6'�� �� E6� �� ���% � %� ��� ���%���&��3� ��! ����% �'$��%%�� )" 7��8  �� 7��8
 % ��!!  % )" 7�A8�7��8 � � )� ���%������  %  � ���� ��� ! #���&! ���� �# ��� � ���%��$�� ��6� )�!��"
$�%�&! �� #�� ��� ����� !!" �%����$�� ���� ; �� ��� � %� �# %� !! %�� ��%4 ���%� ���%���&��3� ��! ����% ���$!���!"
%$���#" ��� ����&�*% $��$�����% �� ��� $�"%�� ! %$ �� ���� ��%$��� �� ��� �����(�� ! �� �%#��� ����% �#
��� ����  �� ��0������ �# ��� ������� �� ) %�% {êi} �� E6 �# ��� ���%�� ��3 �� ��% �� ��� $�"%�� ! %$ �� ��� ��
&��� �(�� �� ��� %$ �� E6�

�# ��� ������� �� ) %�% {êi} �% 6'��4 ���� �� E6 ��� �� �%#��� ���� �# ��� $����%% �� (� !� �% &% �� ���
��! ����%

′
= (αij) , ′

i = αij j (i, j = 1, 2, . . . , 6), (36)

����� (αij) �% ��� �����(�� ! �� �%#��� ���� � ���'� �# ��� �� �%#��� ���� �# ��� ���� �� ��0������ !� 3�%

��� !��(�� �# ��� 3����� &��� �(��4 ���� �� � 3�

2 = ′
i

′
i = j j ,

′
i = αij j = αik k, j = δjk k.

�����4 �� ���� �� ��� #�!!����( %"%��� �# �/& ����%;

αijαik = δjk (i, j, k = 1, 2, . . . , 6). (37)

����
|αijαik| = 1, |αij | = ±1, (38)

����� ��� $!&% %�(� �����%$���% �� ��� ����%4 ����� % ��� ���&% %�(� �����%$���% �� ��0������%�
�� �% ��� �!� � "�� ������� ��� ����� ��3 �� ��% ��� �� &��� �(��� >��$ ���( 7�
8  �� 7�:84 �� ����!&��

�� � ��� �� �%#��� ���� � �����% (βij)  �� (αij)  �� � ���� ��� !!" ��� % ��; αij = βij � F%��( ��� �����(B
�� ! �� �%#��� ���� (αij) �# ��� $����%% �� (�4 �� � � �)� ��  %�� �# %�� �� �� �%#��� ����% ���� ��� % ��
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������ ! (������" (s,κm)4 )&� ���� ��2����� %���%%�%�� �� %� ��%  ��4 �����4 #�� ��2����� $�"%�� ! $����%%B
�% ���� ��2����� %��&��&� !B���� ��� ! $��$�����% �# ��� � ���� !� ?�� %��� �! %%�% �# %��&��&� ! � ���� !%4
��� �2��� �# ��� �"$� �# ��� %���%%�%�� �� %� �� �% �� -  % %���� )" � �" �'$�������% +���.�,� �� +����,
�!*"&%��� $��$�%�� �� �(���� ���% �2��� �� ��� ��! ���� )������ %���%%�%  �� %�� ��%  �� �� ��$! �� ��� %��
�# �� �%#��� ����% ���� ��� % �� ������ ! (������" )"  %��(!� ���(�� ! �� 1�����"� �� ���% � %�  �" $�%%�)!�
��%���" �# !� ���(  �� ��#��� ���� �% %$���6�� ��!" )" ��� ������ ! (������" �# ��� %�� �� �� 1�����"  �� )"
��% ������ ���� �� E6� ���% ��� �- )!� ��� �% 3��" %&���%%#&! �� ��� ��3�!�$���� �# ��� (���� ! � ���� ��� !
�����" �# $! %�����"  �� ��%  $$!�� ����% �� $� ����� +.�,� ��� �%����$" $�%�&! �� �% #���&! ��� �� +�4 �,  %  �
 $$��'�� ���� �� ��� ) %�� $�%�&! �� �# � ���%��$�� ��6� )�!��"; ��� %�� �� $����%% �� (� �% ��3 �� �� ����
��%$��� �� ��% �� �%#��� ����% �# ��� ����  �� ��0������ ��  6'�� ������� �� ) %�%D �� ����� ����%4 ��� ���B
%���&��3� ��! ����% (22)  �� (23)  % ��!!  % ��� ���%���&��3� ��! ����% 7�A8�7��8  �� ��3 �� �� ���� ��%$��� ��
���%� �� �%#��� ����%� ��� �%����$" $�%�&! �� $��$�%�� )" �!*"&%��� %�(��6� ��!" %��$!�6�% ��� �'$������� !
%�&���% �� ��%� ��% ��!� )�!��"  �� �� ���%��&�� ��� #&������ !% �# �! %��$! %��� $����%%�% #�� ��% ��6������ +�,�

��������( �� ��� �������" ��������� 7��84 ��� ����� ��3 �� ��% �# ��� ���%��%  �� 3�����%  !%� ��� �� ��B
3 �� �� �� E6� ����3��4 ��� �� �%#��� ���� �# ��� $����%% �� (� !� 3�% &��� �(�� ��!" ��� %����� ��3 �� ��%4
����� % ��� 6�%�  �� ����� ��3 �� ��% � " )� �� �(��� �� ���% � %�4 ��� �%����$" $�%�&! �� �% 3��! ���� ���%
$�%�&! �� �% �#��� % �� �� )� ��� $ ����&! � $�%�&! ��4 ����� % ��� � ���%��$�� ��6� )�!��" $�%�&! �� �% % ��
�� )� ��� (���� ! �%����$" $�%�&! ��4 ����� �% ���  $$��$�� ��� ��� �%����$" $�%�&! �� � % ����!" ��%�&%%��
�� �A:���A:� #��� ��� %� ��$���� �# ��� (���� ! � ���� ��� ! �����" �# $! %�����"  �� #��� ��� %� ��$����
�# ��� �����" �# �! %��$! %��� $����%%�% �# ��#��� ���� &���� ���$!�' !� ���( +�	���,� ��� %����� �����"
�% ���� (���� ! �� � ��� �����" �# 0��� ���% � � )� ���6���� )" ���%������( ��� #�!!����( ���%���&��3�
��! ����% #�� ��� $! �� �� 1�������% +��,;

⎧
⎪⎪⎨

⎪⎪⎩

dσ

ds
= M1

d

ds
+

(
dσ

ds
−M1 cosϑ1

)
σ̂,

dϑ1

ds
+ κ1 = −M1

σ
sinϑ1, σ = (s,κ1).

(39)

?��� ���� �� #�!!��% �� � +��4 ��, ⎧
⎪⎪⎨

⎪⎪⎩

d
∗
= d − 1

M1
dσ = dλσ,

dλ =
ds

σ

(
cosϑ1 −

1

M1

dσ

ds

)
,

(40)

����� σ = (s,κ1) �% ��� =�/&�%���!*"&%��� &��3��% ! �&�3� �!!&%�� ���( ��� ��%���" �# ��#��� ����� �� ���
�����" �# 0��4 ��� ��� ! %�� ��%  �� �����$�%�� ���� ��� �! %��� $ ��% εeij  �� ��� $! %��� $ ��% εpij ;

εij = εeij + εpij , ij =
e
ij +

p
ij .

���% �% $�%%�)!� ��!" &���� %��$!� !� ���( �� &���� %��$!� &�!� ���(� F���� ���$!�' !� ���(4  �������( ��
�  �  �� <E ��E �4  � ���� ! � � )� ��  � �����$!��� $! %��� %� ��  �� � � )� �! %��� !!" ��#����� �� ���
���������  �� � � )� $! %��� !!" ��#����� ��  ������ ��������� +��,� �����4 ��� ) %�� �"$����%�% �# ��� 0��
�����" �% 3��" ��%�������� � ��$������� )������ %���%%�%  �� ��� ! %�� ��% � � )� ��������� !!" %�&����  ��
�% �� %�� )!� ��������� !!"  �� �'$������� !!"�

�# ��  %%&�� �� � M1 = 2G �� 7�A8  �� 7.�84 ����� G �% ��� �! %��� %�� � ���&!&%4 ���� �� ���� �� ���
#�!!����( ���� $����%� ���%���&��3� ��! ����% �# ��� 0�� �����";

p
= d − 1

2G
dσ = dλσ, dλ =

ds

σ

(
cosϑ1 −

1

2G

dσ

ds

)
. (41)

���%� ��! ����% � -� ����  ���&�� ��� %� ! �  �� 3����� $��$�����% �# � ���� !%  �� (���� !�9� ��� ���%���&B
��3� ��! ����% �# ��� H� ���!���&%%���!! 0�� �����" �� ��� � %� �# � ������( ���� +�.4 ��,� ��� !��� ���"
�"$����%�% �%  ��$��� �� ��� 0�� �����"D ���% �"$����%�% �% �/&�3 !��� �� ���  %%&�$���� �� � ��� ��! ����%
�'$��%%�� )" 7.�8  �� ��� ��$������ �� ��� ��� ����  �(!� ϑ1  �� �� ��� �&�3 �&�� κ1  �� �%  !%� % �� ��
)� ��� �"$����%�% �� #��� $! %��� 0��� �%%&���( �� � ϑ1 = 04 #��� 7.�8 �� ���� �� ��� ��! ����% �# ���
�! %%�� ! H� ���!���&%%���!! 0�� �����" +�.,� �� � �% ��" ���  $$!�� ���� �# ��� 0�� �����" �� ��� %� )�!��"
�����" )�"��� ��� �! %��� !���� !� �% �� &� ���$� )!� ��%&!�% +����
,� ������� ������ ! ��� �- �� ���  $$!�B
� )�!��" �# ��� 0�� �����" �% #���&! ��� �� +	,; �&���( ��� $����%% �# $! %��� ��#��� ����4 �����  $$� �% ���
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%�� ��B���&��� �%����$" �� �(��( %�(��6� ��!" ��� �! %��$! %��� $��$�����% �#  � ���� !� ��� ) %�� ��� �-%
%� ��� )" ��� ��#�����% �# ��� 0�� �����" � � )� ���&��� �� ��� #�!!����(� �� +�	, �� �% ��������� �� � ���
�%����$" $�%�&! �� $��$�%�� �� ��� 3����� #��� 7��8 �� ��� 63�B�����%��� ! ��3� ����� %$ �� %��&!� � -� ����
 ���&�� ��� �2��� �# ��� ����� ��3 �� ��% �# ��� %���%%�%�� �� %� ��4 %���� ��� ���@�����% �� � �����9��( ���
����&�*% %� ��  �� ��� ��6��� #�� ����� ��2����� %�� �� �� 1�������% ���� ��� % �� ������ ! (������" &����
��� ��������� ! �� �%#��� ���� �# ��� ������� ��  '�%� ���% /&�%���� �% �! ��6�� �� +��,  % #�!!��%� C �"
�'$�������% ���� $��#����� �� %�&�" ��� ����� !!" �%����$�� � ���� !% &���� ���� !  �� ��(� ���$�� �&��%
���� ��� ��#��� ���� $����%%�% ���� %���� �� !��(� ���%� �'$�������% %��� �� � ��� �2��� �# ��� �����
��3 �� �� �# ��� %�� �� 7%���%%8 ��3� ��� �� ��� ���� ��� ! $��$�����% �% !���!�  � %� !! %�� ��� ���% # �� �%
��  (������� ���� ��� �����" �# �! %��$! %��� ��#��� ���� $����%%�%� �� ��� ����%$�� � #���&! ����% �# ���
�%����$" $�%�&! ��4 �����4 ��  %%&�� �� � ��� ���@�����% An �� (16)  �� (22)  �� ��� ��$������ �� ���
����� ���%�� ��3 �� ��%� ���% �� �% �� � ��� 63�B�����%��� ! %���%%  �� %�� �� %$ ��%  �� �%����$��D �� �����
����%4 ��� %���%%�%�� �� ��! ����%  �� ��3 �� �� ���� ��%$��� �� ��� ��� ���� �� �%#��� ����% �# ��� ������� ��%
�� ��� )��"  �� ���� ��%$��� �� ��� ��� ����  �� ��0������ �� �%#��� ����% �� ��� 63�B�����%��� ! %$ ��%�
�����4 ��!" ���  �� !��(�� s  �� ��� #�&� �&�3 �&�� $ � �����% κn  �� ��� ������ ! �� � �����%���% �# ���$!�'
!� ���( $����%%�%� ��&%4 ��� � ���� ��� ! �� %&�� �% ������&��� �� /& ���� ��3�!" �� � �����9� ��� ��(���
�# ���$!�'��" #�� ���$!�' !� ���( $����%%�%� ���% ��� �- )!� ��� $��$�%�� )" �!*"&%��� $����% ��� #&�&��
���������% �� ��� ��3�!�$���� �# ��� (���� ! � ���� ��� ! �����" �# $! %�����"�

�� +�A, �� �% %� ��� �� � %��� ��� %� )!� � ���� !% �� ��� � 3�  %��(!� � ������( �&�3�  �� ��� �%����$"
$�%�&! �� �!���� ��%  !! ��� $! %�����" ������� ���� ��� �'��$���� �# ��� C�%�% $! %�����" ���������� ��������(
�� +�,4 ���  $$� � ��� �# $! %��� %�� ��% �% �� � �����9�� )" ��� C�%�% ���������  ��&� ��!" ���&(�D ���%
��������� � � )� ��$! ��� )" ��� %���! � ���%� ���������� �% �����  )�3�4 �� � 3� τ��� < T���D �����4 ���
�� �%����� #��� ��� �! %��� %� �� �� ��� $! %��� ��� � $$��% ���� ��� !���� 3 !&� τ��� =

√
2 k∗ �% %��&!� ���&%!"

 ����3�� ��  !! ��� ���� !  �� % �#  ���� ��� ! $ ����!�  �������( �� ��� C�%�%�� � � ���������� �� �% ��!!
-���� �� � ��� ��(�� )����% � � )�  ���$��&%  �� ��"%� !!���� ���  ���$��&% )����%  �� �%����$��4 ����� %
��� ��"%� !!��� )����% 7��� !%  �� �����  !!�"%8  �� /& %�B�%����$���

�� ��� �! %��� %� ��4  !! ����� !!" �%����$�� )����% ��� �� ��� �%����$" &$ �� ��� ��%� �� �# �� �%����� ��
��� �! %��$! %��� /& %�B�%����$�� %� �� ���� σ ≥ σT � ��� ���� ��%� �# �! %��$! %��� ��#��� ���� $����%%�%
� " )� ��2����� #�� ��2����� � ���� !%� ��� $! %��� ��#��� ���� $������%  %  ��%&!� �# ��� �����(� �&! �
%!����(4 ��� �� �%! ���� ! %�� �4  �� �������( +��,� �%  ���%�/&���� �# ���%� ���� ��%�%4 ��� %��&��&�� �#
� ���� !%  �� ����� %��&��&� !B���� ��� ! $��$�����%  �� �� �(�� ��(����� ���� �� �(�% �� ��� %���%%�%�� ��
%� ��� � %� )!� $&�� � ���� ! ����  �&)��  ����� ! ����� 7%&��  % ��$$��4  !&���&�4  �� �����  !!�"% ����
�/&�!�)��&� %��&��&��8 $�%%�%%�% ��� ���� ��%� �# �� �%! ���� ! %�� � �&���( �! %��$! %��� ��#��� ����  ��
� %  %��(!� � ������( �&�3� &���� %��$!� !� ���(� C (��%�&� � %  ��' (�� !  ����� ! ����� ����  !������
�&�)�� �# %!����( %"%���%D #�� � (��%�&�4 ��� �2��� �#  %��$!� !� ���( �"$� �� ��� %��(!� � ������( �&�3� �%
! �(� +��,� ?�� ��� � ���� !% ���� ��� %� )!� %��&��&��% 7%&��  % � (��%�&�  !!�"%4 ��(�B%����(�� %���!4 ����84
��� ���&!&% �# ��� %���%% ��3� ��� �% ��2����� �&���( ��� �� �%����� #��� ��� �! %��� %� �� �� ��� $! %��� ���
#�� ��2����� �"$�% �# %��$!� !� ���(D �����4  %��(!� � ������( �&�3� � "  !%� )�  )%���� �# ���% ��3� ���� �%
!���!�4 ���� ��� �%����$" $�%�&! �� �% 3 !��  ��&� ��!" ���&(�� =������%�4 %��� ��@�&!���%  $$� � �� ��6���(
��� #&������ !% �# ��� %�� �� $����%% ���� ���%���� ���� �# %�� ��B���&���  ��%����$" &���� ���$!�' !� ���(�
�� +��, �� �% %� ��� �� � ��� ���%�� #��� �# ��� �%����$" $�%�&! �� 7�:8 �% ��3 �� �� �� ��� $�"%�� ! %$ ��  ��
��� ���@�����% An %��&!� ��$��� �� ��� ��3 �� ��% �# ��� $�"%�� ! %$ ��� ��� 3����� #��� �# ��� �%����$"
$�%�&! �� 7��8 �% ��3 �� �� �� E5  �� ��� ���@�����% An %��&!� )� ��� ��3 �� ��% �# E5� �� +����, ��� #�!!����(
�"$����%�% �%  ��$���; ��� ���@�����% �# 7�:8 ��$������ �� ��� ����� ��3 �� ��% �� ��� $�"%�� ! %$ �� ��� ��
��3 �� �� �� E5� �� %������ . �# ���% $ $��4 �� #���&! ��� ��� �������" $�����$!� #�� ���%��%  �� 3�����% ��
�! ��#" ���% /&�%����� ��� ��3� ����� %$ �� E5 ∈ E6 �% ��$��� �� �� ��� �����" �# $����%%�%  �� �% %�$ � ���
#��� E6  %  � ����$������ %$ �� +����,� �� E54 ��� %�� �� $����%% �� (� �%  %�� �# #�����( �� 1�������%
(s) ��$������ �� ��� %���%% 3�����% σ4 ��� $��%%&�� p(s)4 ��� ���$�� �&�� T (s)4  �� �� ��� ����� ���B

������$�"%�� ! $ � �����% β +�4 �,� �� ���% %$ ��4 ��� %�� �� $����%%�%  �� ��3���� ���� ��� ���� ! #�����(
$����%%�%  �� ��� %�� � #�����( $����%%�%� �#

3σ0 = σ1 + σ2 + σ3 = 0, 3ε0 = ε1 + ε2 + ε3 = 0

 �� ��� $�����$ ! %���%%�%  �� %�� ��%  �� ��� �/& ! �� 9���  �� � 3� ��2����� %�(�%4 ���� ��� ���%�� ��3 �� ��%

/3,:37 9�'-2�,'�; /2:)&�':, 19<<2�'� -��% �� ��% = ����
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� -� ��� #��� ⎧
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⎪⎪⎪⎩

Iσ1 = Jσ
1 = 0, 2Iσ2 = −2Jσ

2 = −σ2, Iσ3 = Jσ
3 =

σ3 cos 3ϕ

3
√
6

,

Iε1 = Jε
1 = 0, 2Iε2 = −2Jε

2 = − 2, Iε3 = Jε
3 =

3 cos 3ψ

3
√
6

.

�# ��� $����%% �� (� �% 6'��  ��  � �����(�� ! �� �%#��� ���� �# ��� ������� �� ) %�% {îk} �% &%��4 ����
��� ��3 �� ��% �# ���%��%  �� 3�����% ��� �� ��� % ��  � � �� $���� �# ��� %�� �� �� 1�����"� �#  � �����(�� !
�� �%#��� ���� �# ��� $����%% �� (�  �� ��% 3�����% �% &%��  �� ��� ������� �� ) %�% {îk} �% ��� % ��4 ����
��� 3�����% σ  �� ��� �� ����� !��(��% σ  �� 4 ����� % ���  �(!�% ϕ  �� ψ  �� �� �(��D �����4 ��� �����
��3 �� ��%  ��  !%� �� �(��� �� ���% � %� ��� �%����$" $�%�&! �� �% 3��! ���4 %���� ��� #��� �# ��� %���%%�%�� ��
%� ��  �� ��� %��&��&� !B���� ��� ! $��$�����%  �� �� �(��� �# ��� !� ���( $����%% �% %��$!� �� /& %�%��$!�
���� (S∗

ij) = ( ∗
ij)4 ���� �� ���� �� ��� ��! ����%

σ =
σ

, Sij =
σ

ij , σ = ( ).

����� ϕ = ψ4 �� � 3�

cos 3ϕ =
3
√
6|Sij |
σ3

=
3
√
6| ij |
3 = cos 3ψ.

��&%4 ��� �%����$" $�%�&! �� �%  !� "% 3 !�� �� ��� � %� �# ��� %��$!�  �� /& %�%��$!� !� ���( �� ���
&��#��� %�� � #�����( $����%%� � (���� !�9 ���� �# ��� �%����$" $�%�&! �� �� E5 )" ������&���( ��� ������ !
$��%%&�� p �� ��� ��! ��3� 3�!&�� %�� �� θ = 3ε0 �� ��� �����$� �# ��� $����%% �� (�  � � �� $���� �# ��� %�� ��
�� 1�����" � &%�% %��� ��@�&!���%4 %����4 �� ��� ��3� ����� %&)%$ �� E54 ��!" ��� #�����( %�� �� �% ��%���)��
)" ��6������� �%  ���%�/&����4 %��� ��%� $��(� �% ���� σ0 �= 0  �� ε0 �= 0  �� &%�� �� �'$������� ! %�&���%
�� ����- ��� �%����$" $�%�&! ��4 ����� !� �% �� ��� ��%��3��" �# �2���% �# ��� ����� ��3 �� ��%  �� �� ���
3��! ���� �# ��� �%����$" $�%�&! ��� ��� ���%���� ���� �# ��� �%����$" $�%�&! �� �� E6 ��%�� � �# E5 �!���� ��%
���%� ��@�&!���% #�� ��� $����%%�% �# %��$!�  �� /& %�%��$!� !� ���(�

.� ��
 ��
����J H���>�H5
 ?=� ��
 �
��=�� ��� �
>�=��
=? ���
��
� ��� ������� �� E6

��� %�'B�����%��� ! 
&�!��� � %$ �� E6 �% ��6��� )" ��� %�� �# ��� %�� ��  �� %���%% 3�����% +�4 �4 ��,;

ε = Xiêi = k îk, S = Yiêi = Sk îk (i = 1, 2, . . . , 6; k = 0, 1, . . . , 5).

���� {êi}  �� {îk}  �� ��� ��������� ! ������� �� ) %�% �� E6�
�% %���� �� ������� � �# ���% $ $��4 ��� 3����� ������� ��%  �� �� �(��  �������( �� ��� #�!!����( ��! ����%

�# ��� 3����� �% 6'��  �� ��� ������� �� ) %�% ê′i = βij êj 4 êi = βjiê
′
j �% �����(�� !!" �� �%#�����;

Xi = βijXj . (42)

����  !! ��� ��3 �� ��% �#  %�'B�����%��� ! 3����� ��� �� ��� % �� �� E64 %���� ���% 3����� ��� ��% ��� % ��
 %  ���!�� =� ��� ����� � ��4 �# ��� ������� �� ) %�% �% 6'��  �� ��� �����(�� ! �� �%#��� ���� �# ���
3����� ε �% &%��4 ���� �� � 3�

X ′
i = αijXj . (43)

�# ��� !��(�� �# ���% 3����� ��� ��% &��� �(��4 ���� ��� ���������% �'$��%%�� )" 7��8  �� 7�	8 %��&!� )�
3 !��� ?��� 7.�8  �� 7.�8 �� #�!!��% �� � αij = βij � �� ����� ����%4 ��� �� �%#��� ����% �# ��� ����  ��
��0������  �� � ���� ��� !!" ��� % ��4 )&�  �� $�"%�� !!" ��2����� �# ��� ������� ��  '�%4 �� ��� ) %�% #��
6'�� 3�����%4 �� ��� $����%% �� (�% #�� 6'�� ������� �� ) %�%  �� �� �%#������ �� ��� � %� �# 7.�84  !! ���
��3 �� ��% �# ��� �� �%#��� ���� ��� �� ��� % ��4 ����� %4 �� ��� � %� �# 7.�84 ��!" ��� ���&!� �# 3�����%
��� �� ��� % ��  �� ��� ����� ��3 �� ��% ��� �� ����6����� �� ��� 6�%� � %�4 ��� 3����� ε )���( �� �%#�����
��  ��� $�%����� ε′ � " � -�  $�%����� %&�� �� �

ε′ = λε, X ′
i = αijXj = λXi. (44)

��� 3����� ε % ��%#"��( 7..8 �% % �� �� )� ��� ��(��3����� ���� ��� ��(��3 !&� λ +�
4 �:,� �����

Xi = δijXj , Xj = εX∗
j , X∗

jX
∗
j = 1, (45)

/3,:37 9�'-2�,'�; /2:)&�':, 19<<2�'� -��% �� ��% = ����
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#��� 7..8  �� 7.
8 �� ���� �� ��� #�!!����( %"%��� �# ����(����&% !��� �  !(�)� �� �/& ����%;

(αij − δijλ)X
∗
j = 0, (46)

��������( �� 7.
84 ��% �������� �� �% �# ��� #���

D = −|αij − δijλ| = λ6 −M1λ
5 +M2λ

4 −M3λ
3 +M4λ

2 −M5λ+M6 = 0, (47)

���%� ���@�����% Mn (n = 1, 2, . . . , 6)  �� ��� %&�% �# ��� $�����$ ! �����% �# ����� n #�� ��� �� �%#��� ����
� ���' A = (αij);

M1 = αii, M2 =
1

2
(αiiαjj − αijαij), . . . , M6 = |αij |.

��� �/& ���� �'$��%%�� )" 7.�8 �% % �� �� )� ��� �� � �����%��� �/& ���� �# %"%��� 7.:8  �� ��% ���@�����%
 �� ��� ��3 �� ��% �# ��� %$ �� E6 +�
,� ��� ����% �# 
/� 7.�8  �� ��� ��(��3 !&�% �# ��� � ���' A = (αij)�
��������( �� ���� *% �������4 ��� ���@�����% Mn � � )� �'$��%%�� �� ����% �# λn &%��( ��� #���&! %

M1 =

6∑

i=1

λi, M2 =

6∑

i,j=1

λiλj (i < j), M3 =

6∑

i,j,k=1

λiλjλk (i < j < k),

M4 =
∑6

i,j,k,r=1 λiλjλkλr (i < j < k < r), . . . , M6 = λ1λ2λ3λ4λ5λ6.


/& ���� 7.�8 � % �� ���� �� � %�' ����%� �#  !! λn  �� ��2�����  �� �� !4 ���� ��� �� �%#��� ���� � ���'
A = (αij) �% �� (�� !�9 )!�� �&)%���&���( λn ���� 7.:84 �� � � 6�� ��� ��(��3�����% εn  �� ����� ���&!� εn�
C&!��$!"��( Mn )" εn4 ����� ε = |ε| �% ��� ���&!&% �# ��� %�� �� 3�����4 �� �)� �� ��� #�!!����( %�' ��3 �� ��%
�# ��� %�� �� 3����� �� E6;

Iεn = εnMn (n = 1, 2, . . . , 6).

����! �!"4 #�� ��� %���%% ��3 �� ��% �� � 3� Iσn = SnMn�
�# 
/� 7.�8 � % �&!��$!� ����%4 ���� ��� �&�)�� �# !��� �!" ����$������ ��(��3�����% �� E6 �% !�%% �� �

%�' +�:,� 5�� 
/� 7.�8 � 3� ��� �&!��$!� ����% λn� �� �% ��$��� �� �� � ��� $�"%�� ! $����%%�%  �� ��2����� ����
��� 3�����% ε(t)  �� S(t)  �� �� �%#������ �� �% ��!! -���� �� �4 �� ��� $�"%�� ! %$ ��4 ��� �� �%#��� ���� �#
��� ������� ��  '�% xi �% ��6��� )" ��� ����� $ � �����% � !!�� ��� 
&!��  �(!�% )���(  $ ����&! � � %� �#
��� ��� ���� �� �%#��� ���� �� E6 #�� %��� 3 !&�% �# αij +�,� �# ��� �� �%#��� ����% �# ��� ����  �� ��0������

#�� ��� 3�����% ε′ = (αij)ε  �� S
′
= (αij)S  �� ��� ���������� ���� ��� �����B$ � ����� ��� ����4 ���� ��

�)� �� ��� �! %% �# �� 1�������% �� � �� ��� �����%$��� �� ��� $�"%�� ! $����%%�% #�� ��� %�� ��  �� %���%%
���%��%� ���% # ��  !!��% &% ��  %%&�� �� � �� E6 ��� #�!!����( ����� �&!��$!� ����% %��&!� )� �/& ! �� 9���;
λ4 = λ5 = λ6 = 0� �� ���% � %�4 
/� 7.�8 � -�% ��� #���

λ3(λ3 −M1λ
2 +M2λ−M3) = 0,

�����
M1 = λ1 + λ2 + λ3, M2 = λ1λ2 + λ2λ3 + λ3λ1, M3 = λ1λ2λ3.

�� E6 ��� ��3 �� ��% �# ��� %���%%�%�� �� %� ��  ��

{
Iε1 = εM1 = ε1 + ε2 + ε3 = 3ε0, Iε2 = ε2M2 = ε1ε2 + ε2ε3 + ε3ε1,

Iε3 = ε3M3 = ε1ε2ε3, Iε4 = Iε5 = Iε6 = 0, 2(Iε2 )
′ = ε2 = ε21 + ε22 + ε23,

{
Iσ1 = SM1 = σ1 + σ2 + σ3 = 3σ0, Iσ2 = S2M2 = σ1σ2 + σ2σ3 + σ3σ1,

Iσ3 = S3M3 = σ1σ2σ3, Iσ4 = Iσ5 = Iσ6 = 0, 2(Iσ2 )
′ = S2 = σ2

1 + σ2
2 + σ2

3 ,

����� εk  �� σk (k = 1, 2, 3)  �� ��� $�����$ ! %�� ��%  �� %���%%�%� ���% ��%&!� �% ��  (������� ���� ��� # ��
�� �4 �� ��� $ ����&! � � %� �# ��� $�"%�� ! %$ ��4 �� �)� �� ��� �����B�����%��� ! %$ �� �# $�����$ ! %���%%
 �� %�� �� ���������% +��,� ��� �)� ���� ��%&!� �%  �  ������� ! ��/&������� #���&! ��� �� +��,  �� $��������
�� +�4 �4 ��4 ��,� I� � !! ���% ��/&�������  %  (���� !�9�� �������" $�����$!� #�� ��� %�����B� �- ���%��% �� E6;
��� 3�����% �# E6  �� ��� %���%%  �� %�� �� ���%��% �� ��� $�"%�� ! �����B�����%��� ! %$ ��  �� ������� ! �#
����� ���&!�  �� ����� ����� ��(��3�����%  �� ����������D ���� �� � �� E6 ���%� ��(��3�����% #���  !�� !
�����B�����%��� ! ��3 �� �� %&)%$ �� �/&�3 !��� �� ��� �����B�����%��� ! %&)%$ �� �# $�����$ ! ���������% ��
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��� $�"%�� ! %$ ��� ��������( �� ��� �������" $�����$!�4 ��� ����� ��3 �� ��% �# � �� �# ��� %���%%  �� %�� ��
���%��%  �� 3 !�� �� ��� $�"%�� ! %$ ��  ��  ��  !%� ��3 �� �� �� E6 +��,�

���  )�3� ��%&!� �% ��! ��� �� ��� � ���%��$�� ��6� )�!��" $�%�&! ��  �� �� ��% ���%���&��3� ��! ����% 7��84
7��8  �� 7�A8�7��8 �� E6 ���� ��� $����%% �� (�  �� ��% 3�����%  �� 6'��� �# ��� ������� �� ) %�% �% 6'��  ��
��� $����%% �� (�  �� ��% 3�����% 7.�8  �� �����(�� !!" �� �%#�����4 ���� ��� %��& ���� �% $�"%�� !!" �� �(��
���� ��� �%����$" $�%�&! �� �% #���&! ���  %  ���%�/&���� �# ��� � ���%��$�� ��6� )�!��" $�%�&! ��� �� ���%
� %�4 ��!" ��� !��(�� �#  3����� ��� ��% ��3 �� ��� ��� 6�%�  �� ����� ��3 �� ��% ��� �� � ���� ��� !!"
����6���� �� ��� #� �����- �# ��� ) %�� �"$����%�% �� ��� � ���� ! ������&&�  �� � " )����� ��� ��3 �� ��
)�� &%� �# �� �(�% �� %��&��&� !B���� ��� ! $��$�����% �# ��� ����&�  � ��� ��%�!�3�!� �� ��� �����" �#
�! %��$! %��� ��#��� ���� $����%%�%4 �����4 �'$������� ! %�&���% )����� ��$��� �� #�� � �� �! %% �# � ���� !%
��  � !"9� ��� �2��� �# ��� ��3 �� ��% �# ��� %���%%�%�� �� %� �� �� ��� #&!6!���� �# ��� �%����$" $�%�&! ���
�� �% �'$������� !!" %���� �� �4 #�� ��� %� )!� ��� !%  �� �����  !!�"%4 ���% �2��� �% �� - +��,� ��� �!*"&%���
�%����$" $�%�&! �� #���&! ��� �� +�4 �4 �4 	4 ��, ���(�� ��%  ��� ��������� �� ��� $! %�����" �����"  ��  !!��%
��� �� ����! ��� ���$!�' !� ���( $����%%�% �� ������&&� ���� ���%�


� >=�>5F��=�

���  )�3� ��%�&%%���  !!��% &% �� %� �� �� �4 #�� ��� ����� !!" �%����$�� ������&�&% ���� 4 ��� �%����$"
$�%�&! �� ���$!���!" �����%$���% �� ��� #&�� ���� ! �"$����%�% �# ������&&� ���� ���%� �� ��% ���(�� !
%� ��4  � ���� ! �% �%����$�� 7/& %�B�%����$��8  �� ����(����&% �� � � �� $���� �# %� !! 3�!&��� ��� � ���� !
$�%%�%%�% ��� �! %��3�%��$! %��� $��$�����%� �&���(  ��#��� ���� $����%%4 �����  $$� �% ��� %�� ��B���&���
 ��%����$" � &%�� )" �� �(�% �� ��� %��&��&� !B���� ��� ! $��$�����%  � ��� ��%�!�3�! ���� ��� %���%%�%�� ��
%� ��  �� ��� �! %��� ���%� ��%  �� �� �(��� F���� %��$!� !� ���(4 ��� $ � �����% �# ��� %�� ��B���&���
 ��%����$"  �� ��%���)�� #�� ��� %� )!� � ���� !% �� ��� ) %�% �# ��� %��(!� � ������( �&�3� ! �� F����
���$!�' !� ���(4 %&��  �&�3� �%  )%���  �� ��� #&������ !% �# �! %��$! %��� $����%%�% 7�'��$� #�� ��� ���$!�'
!� ���( $ � �����% �# ������ ! (������" �# ��� %�� �� �� 1�����"8  �� ��$������ �� ��� #�����( $ � �����%
�# ��� %���%%�%�� �� %� �� �����%$�����( �� ��� ������ %��&��&� !B���� ��� ! $ � �����%  � ��� ��%�!�3�!�
F���� ���$!�' !� ���( �� �� ��� � %� �# �! %��$! %��� ��#��� ����4 ��&%4 ��� #&�� ���� ! �"$����%�% %��&!�
)� ��6����

=� ��� ����� � ��4 ��� �%����$" $�%�&! �� ���� ��% ��� #�!!����( #&�� ���� ! ��� ; ��� ��%���" �# ���$!�'
!� ���( $����%%�% �% � ��!" ��6��� )" ��� $ � �����% �# ������ ! (������" �# %�� �� �� 1�������% 7���  ��
!��(�� s  �� ��� �&�3 �&�� $ � �����% κm8 � ���� �� � )" ��� �2��� �# ��� #�����( $ � �����% �# ��� %���%%�
%�� �� %� �� � &%�� )" �� �(��( ��� %��&��&� !B���� ��� ! %� ��  � ��� ��%�!�3�!D ���% �� �(� � %  %����� �"
�2���� ��3�����!�%%4 %&�� �� �(�% )����� ������ )!� #�� %��� � ���� !% ���� ��� $�"%�� ! ���!��� ���" ��  �
�! %��� ��� �� 7� %� ����4 ��������4 (� $����4 ����8� ��� �&�3 �&�� $ � �����% �# ���$!�' �� 1�������% � � )�
���%������  %  � ���� ��� ! �� %&�� �# ���$!�'��" �� !� ���(D ��� ��! " $�����$!� !� �% �� ��� �����$� �# ���
��! " �� �� ���%������  %  �� � �����%��� %�9� �� ��� �! %%�6� ���� �# %�� �� �� 1�������%� ��� �%����$" $�%�&! ��
��6��% ��� 3����� $��$�����% �# � ���� !%  �� (�������� !!" 3�%& !�9� ��� $����%%�% �# ���$!�' !� ���(� F����
���$!�' !� ���(4 ��� %� ! � $��$�����% ��6�� ��� #&������ !% �# $����%%�%� ����� �% �� &��3��% ! #&������ !
��%���)��( ��� � ������( $����%% �&���( ��� �! %��$! %��� ��#��� ����� �����#���4 ��� (���� ! � ���� ��� !
�����" �# $! %�����" %��&!� )�  �����" �# $! %�����" �#  ��%����$�� )����% �� ��� � %� �# ���$!�' !� ���( +��,�
���% � " �# ��3�!�$���� � -�% ����� ����3��4 ���% # �� ���% ��� $��3��� #��� ��6���( ��� �%����$" $�%�&! ��
)" ���%��&����( ���  $$��'�� �� #&������ !% #�� ��� ���$!�' �! %��$! %��� $����%%�% �# ��#��� ����� �� �
�% ��" ��� �!*"&%��� �%����$" $�%�&! �� $��3���%  ) %�% #�� ��� �'$������� !  �� ��������� ! %�&���% �#
3 ���&% ��%�����% �# ���$!�' ��#��� ���� �# �! %��$! %��� ����  �� %���% ��� ��%� �@����� ��������� ��
��� ��3�!�$���� �# ��� $! %�����" �����" #�� ��(�������( %�&���% ���$ ��� �� ��� ����� 3��%���% �# $! %�����"
�������% �� � �� ��� ���� �� %&��  3 ����" �# ���$!�' !� ���( ��%�����%� �� $��%���4  �&�)�� �# ��� ��%&!�%
 �� �)� ���� �� ���% ��������� +�����4 .
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